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9,65 571 38,33 | 261,36
1,00 0,00 16,60 70,40
20 TOrO 10,65 7,71 54,93 | 331,76
Hepnens 1 nenp 2 !
BbIXOJ, b XK v SH I KKaJl
r/n |Beineuka 70 9,65 7,71 38,33 261,36
Cox ¢hpyKTOBBIi 200 1,00 0,00 16,60 70,40
Hroro 10,65 7,71 54,93 331,76
Henens 1 nesn 3
BBIXO/Jl b X v 5H 11 KKaJI
r/n  |Bbineuka 70 9,65 7,71 38,33 261,36
Cox GpyKTOBBIi 200 1,00 0,00 16,60 70,40
Uroro 10,65 7.71 54,93 331,76
Henens 1 nennp 4
BbIXOA b X v 3H L KKaj
/u  |Bbineuka 70 9,65 1,71 38,33 261,36
Cox GpyKTOBbIH 200 1,00 0,00 16,60 70,40
Hroro 10,65 7,71 54,93 331,76
Henens 1 nenn S
BbIXOJ, b K \Y 5H L KKaJ
r/n  |Bbineuka 70 9,65 7,71 38,33 261,36
Cok ¢pyKTOBbIH 200 1,00 0,00 16,60 70,40
Hroro 10,65 7,71 54,93 331,76
Henens 2 nenn 1
BbIXOJ, b XK v 9H L KKaj
r/m  |Bbineuka 70 9,65 Tl 1 38,33 261,36
Cox ppyKTOBBIH 200 1,00 0,00 16,60 70,40
Hroro 10,65 7,71 54,93 331,76
Henens 2 nenn 2
BbIXO]1 b X v 3H 11 KKaJj
r/u  |Bbineuka 70 9,65 7,71 38,33 261,36
Coxk pykToBbIH 200 1,00 0,00 16,60 70,40
Hroro 10,65 7,71 54,93 331,76
Henens 2 nenpb 3
BbIXOJ, b X v 5H L[ KKaJl
r/n |Bbineuka 70 9,65 7,71 38,33 261,36
Cok hpyKTOBbIH 200 1,00 0,00 16,60 70,40
HUroro 10,65 7,71 54,93 331,76
Henens 2 nessp 4
BbIXO]I b X v SH I KKaJjl
v |Bbineuka 70 9,65 7,71 38,33 | 261,36
Cox GpyKTOBBIH 200 1,00 0,00 16,60 70,40
Hroro 10,65 7571 54,93 331,76
Henens 2 nenpb S
BbIXOJ, b XK v 9H 1I KKaJj
r/n  |Bbineuka 70 9,65 7,71 38,33 261,36
Cox GpyKTOBBIH 200 1,00 0,00 16,60 70,40
Uroro 10,65 7,71 54,93 331,76
3a 0ecamb Onell 106.50 77.10 549.30 | 3317.60




